

#1. Sum: $\frac{45}{9} = \boxed{5}$

product: $\boxed{\frac{40}{9}}$

#2. $2+i \Rightarrow \boxed{2-i} = x \Rightarrow (x - (2+i))(x - (2-i))$

$= [(x-2) - i][(x-2) + i]$

$= x^2 - 4x + 4 + 1 = \boxed{x^2 - 4x + 5}$

$$\begin{array}{r} x^2 - 4x + 5 \quad \overline{) \quad x^3 - 6x^2 + 13x - 10} \\ \underline{- (x^3 - 4x^2 + 5x)} \\ -2x^2 + 8x - 10 \\ \underline{- (-2x^2 + 8x - 10)} \\ 0 \end{array}$$

$\boxed{x=2}$

#3. $f(2) = f(-1)$

$(2)^3 + 3(2)^2 + 2a + b = (-1)^3 + 3(-1)^2 + a(-1) + b$

$8 + 12 + 2a = -1 + 3 - a$

$3a = 2 - 20 = -18 \quad \boxed{a = -6}$

#4. (a) Sum: $\boxed{-\frac{1}{2}}$

ii product: $\boxed{-18}$

(b) $f(x) = 2(x+4)^3 + (x+4)^4 - 26(x+4)^3 + 13(x+4)^2 + 72(x+4) + 36$
 $= \boxed{2} (x^5 + \boxed{5x^4(4)} + 10x^3(4)^2 \dots) + \boxed{(x^4)} (4x^3 \dots) \dots$

Sum: $-\frac{41}{2} \quad \Leftarrow \quad -\frac{2 \cdot 5 \cdot 4 + 1}{2}$

#5.

$$p(x) = 3x^3 + ax + b$$

(2)

$$p(2) = 3 \cdot 2^3 + 2a + b = 2 \Rightarrow \boxed{2a + b = -22} \quad \text{solve the system.}$$

$$p(-1) = -3 - a + b = 5 \Rightarrow \boxed{-a + b = 8}$$

$$3a = -30$$

$$\boxed{a = -10}$$

$$b = 8 + a$$

$$\boxed{b = -2}$$

#6.

$$5x^3 + 48x^2 + 100x + 2 - a = 0$$

$$k_1 + k_2 + k_3 = -\frac{48}{5}$$

$$k_1 k_2 k_3 = \frac{-(2-a)}{5}$$

$$\Rightarrow \frac{-48}{5} + \frac{(a-2)}{5} = 0$$

$$-48 + a - 2 = 0 \Rightarrow \boxed{a = 50}$$

#7.

$$(i) \quad p(1) = 2 - 1 - 2 + 1 = 0$$

$$(ii) \quad \begin{array}{c|ccc} 1 & 2 & -1 & -2 & 1 \\ & 2 & 1 & -1 & 0 \end{array}$$

$$\Rightarrow 2x^2 + x - 1 = 0 \Rightarrow (2x-1)(x+1) = 0$$

$$\begin{array}{c} 2x - 1 \\ x + 1 \end{array}$$

$$\boxed{x = -1} \quad \boxed{x = \frac{1}{2}}$$

#8.

$$p(x) = Ax^3 + Bx^2 + 2x + 6 \Rightarrow p(-1) = -A + B - 1 + 6 = 0$$

$$\boxed{-A + B = -5}$$

$$\Rightarrow p(2) = 8A + 4B + 2 + 6 = 0$$

$$8A + 4B = -8$$

$$\boxed{2A + B = -2}$$

#9.

$$f(2) = 15$$

$$(2)^4 + 3(2)^2 + p(2)^2 - 2(2) + q = 15$$

$$4p + q = 15 - 36 = -21$$

$$3A = 3$$

$$\boxed{A = 1}$$

$$B = -5 + A = \boxed{-4}$$

$$f(-3) = 0$$

$$(-3)^4 + 3(-3)^2 + p(-3)^2 - 2(-3) + q = 0$$

$$\boxed{4p + q = -21}$$

$$-5p = -15$$

$$\boxed{p = 3}$$

$$\boxed{q = -33}$$